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General Instructions :

Read the following instructions carefully and follow them :
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(2)
(3)
(4)

(5)
(6)
(7)
(8)
9)

1. @A)

B)

67/2/3

This question paper contains 34 questions. All questions are
compulsory.

This question paper is divided into two Parts — Part — A and Part — B.
Part — A is compulsory for all candidates.

Part — B has two options i.e. (I) Analysis of Financial Statements and
(1) Computerised Accounting. Candidates must attempt only one of the
given options as per the subject opted.

Question number 1 to 16 and 27 to 30 carries 1 mark each.
Question number 17 to 20, 31 and 32 carries 3 marks each.
Question number 21, 22 and 33 carries 4 marks each.
Question number 23 to 26 and 34 carries 6 marks each.

There 1s no overall choice. However, an internal choice has been
provided in 7 questions of one mark, 2 questions of three marks,
1 question of 4 marks and 2 questions of six marks.

PART - A

(Accounting for Partnership Firms and Companies)

Net Assets minus capital reserve is :

(a) Purchase consideration (b) Goodwill
(¢) Total Assets (d) Liquid Assets 1
OR

When a company issues shares at a premium, the company can

collect securities premium along with the following :
(a) Application money (b) Allotment money
(¢) Call money (d) Any of the above 1
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T HTSIER o FTe] @Td oh ST U&7 H Wl <hl 715 ISt T2 TS bt Ty oft
(a) TEZ 30,000 TUTHAET T 20,000 (b) TH T 20,000 AT AEA T 10,000
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BDE)
(B) 314, fag 7un fo=n v wH i HeER off qeT 2:2:1 % UM § AW-7IH w1
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& B | 31 9, 2022 1 HETH g¢ s § B 1 v T 2,00,000 T | 3 g
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(a) 10,000 (b) 2,500
() ¥ 175,000 (d) ¥5,000
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o QT 397 1 I¥eh A8 o 310 H T 15,000 =T AT TohAT | AT W AT 8% Tk
Y ST ST | JTEL0T 9L ST <h1 TUHT o To7Q 37ed 3rafer gt
(a) 4% wEN (b) 67EM
(c) 6% WEl (d) 5% TEN

5. U ®H o TS W, YA % T S T 2,00,000 TGHT AT G5 TIF T T T g
% 10,00,000 & ¥ 7,00,000 Teh H HTAT AT |

TR UX AT /3 BhfY
(a) «m™ < 1,00,000 () =T 1,00,000
() BT 5,00,000 (d) <™ Z 5,00,000
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(A) Ram and Mohan were partners with fixed capitals of ¥ 3,00,000 and
T 2,00,000 respectively. As per their partnership deed, interest on
capital was allowed @ 10% p.a. Net profit for the year ended 31st
March, 2022 was ¥ 30,000. The amount of interest on capital was
credited to each partner’s current account for the year ended 31st
March, 2022 was :

(a) Ram T 30,000 and Mohan % 20,000
(b) Ram % 20,000 and Mohan ¥ 10,000
(¢) Ram T 18,000 and Mohan % 12,000
(d) Ram T 30,000 and Mohan Nil

OR

(B) Anu, Bindu and Siya were partners in a firm sharing profits and
losses in the ratio of 2:2:1. Siya was guaranteed that her share of
profit will not be less than ¥ 50,000. The firm’s profit for the year
ended 31st March, 2022 was T 2,00,000. The amount of deficiency to
be borne by Anu was :

(a) ¥10,000 (b) 2,500
(¢) 75,000 (d) 5,000

Rohit and Mohit were partners sharing profits and losses in the ratio of
2:1. Their capital accounts as on 31.3.2021 had a credit balance of
T 1,09,000 and ¥ 66,000 respectively. They admitted Sahil as a new
partner on 1st April, 2021 for 1/5th share in profits. Sahil brought ¥ 25,000
as his share of goodwill premium. He agreed to contribute capital in new
profit-sharing ratio. The amount of capital brought by Sahil was :

(a) 40,000 (b) ¥ 32,000

(¢) %12,50,000 (d) 50,000

Rita and Usha were partners in a firm sharing profits and losses in the
ratio of 3:5. During the year Usha withdrew ¥ 15,000 at the end of each
month. Interest on drawings is to be charged @ 8% p.a. The average
period for the calculation of interest on drawings will be :

(a) 4% months (b) 6 months

(¢) 6% months (d) 5% month

On the reconstitution of a firm, the value of the land was appreciated by
3 2,00,000 and plant and machinery reduced to ¥ 7,00,000 from
% 10,00,000. Gain or loss on revaluation will be :

(a) Gain < 1,00,000 (b) Loss ¥ 1,00,000

(¢) Loss < 5,00,000 (d) Gain X 5,00,000
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6. At the time of forfeiture of shares, share capital account is debited with :
(@) Uncalled amount on shares (b) Paid up amount on shares
(¢) Called up amount on shares (d) Unpaid amount on shares 1

7. Elite Ltd. issued 20,000, 9% Debentures of ¥ 100 each at a discount of
10%, redeemable at a premium. On issue of these debentures, ‘Loss on
issue of debentures account’ was debited with ¥ 4,00,000. The premium on
redemption of debentures is :

(a) % 4,00,000 (b) 2,00,000
(¢ 6,000,000 (d) % 10,00,000 1

8. Gopal, Krishna and Govind were partners sharing profits and losses in
the ratio of 5:4:3. Krishna retired on 1st April, 2022. Gopal and Govind
purchased his share of profit by giving him ¥ 1,20,000. T 80,000 was paid
by Gopal and ¥ 40,000 by Govind. Gaining ratio is :
(a) 1:2 (b) 5:3
¢ 1:1 @ 2:1 1

9. Assertion (A) : Under the fluctuating capital method, the balance in the
capital account fluctuates from time to time.

Reason (R) : Under the fluctuating capital method, all the adjustments
such as share of profit and loss, interest on capital, drawings,
interest on drawings etc. are recorded directly in the capital accounts
of the partners.

(@) (A)1is correct but (R) is wrong.

(b) Both (A) and (R) are correct but (R) is not the correct explanation of
(A).

(¢) Both (A) and (R) are incorrect.

(d) Both (A) and (R) are correct and (R) is the correct explanation of (A). 1

10. Offer of securities or invitation to subscribe securities to a select group of
persons by a company (other than by way of public offer) is known as :
(a) Private placement of shares (b) Sweat equity
(¢) Incorporation cost (d) Employee stock option plan 1

67/2/3 Page 7 P.T.O.



11. (A)

B)

T P 1 % IR H@EER 8 | et stiifem, 2013 % EUE % SgER
g § 311 T stfafcs areer =1 yaw fear s aswar @ ¢

(@ 50 (b) 46
(¢ 100 (d 96
Frean

rfira qer gt T w1 % |rEieR A qem 3R et ISt shEeT: € 6,00,000 AT
% 4,00,000 ft | S 1 BH & 1 § 1/5d WA % ToTT Ush AT ARG ST TR |
i 379 Tt iftem &% 9w % &9 ° T 40,000 FUT 39 GSft % fTw 3,00,000
ST | G o ST g W WAl < TS Tt sfifiem s ufy geft

(a) 20,000 (b) 24,000
(c) 16,000 (d) ¥ 40,000

12. s foafeq o@ed w4 At $a ufwmtE@r €030,00,000 1 W6 FoA AT
% 6,00,000 off | afewafeat st agelt 80% T g8 qeT SHarsti &1 fHueH 5% 0 W fema
T | Afe fererest == 330,000 9, A ferered W @y 3reran g1+ of

(@)
(©

13. (A)

B)
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™ % 18,00,000 (b) = 2 6,00,000
& 2 6,00,000 (d) =2 18,00,000

T8 feafiee 3 T 10 w3k & qut anfera 500 31 @t % 3 Wi 3791 Y Stf=m I 61
A 7 T T 07 L fom | 99 & 300 3730 1 % 8 i 3791 qui e . fifira
R feam T | St T @Td o ST 9e § @l o TS i off

(a) 1,500 () ¥2,100
() 3,200 (d) ¥ 1,800
YT

Tsh HEHT 7 3 10 T & 1000 3791, fomm w3 7 anfea 9, 7 2 ufa o791 6t wem
AT ST A = BT I FO1 L foran | 5 weft 3791 o6t T 5 Wit 3797, T 7 Yed W
o Teifer s fearm mram | ot wer @ra # geeiatcd i oft -

(a) 2,000 (b) % 3,000

(¢) 4,000 @ 5,000
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11. (A) A partnership firm has four partners. How many additional partners
can be admitted into the business as per the provisions of the
Companies Act, 2013 ?

(@ 50 (o) 46
(¢ 100 (d) 96 1
OR

(B) Amit and Sumit were partners in a firm with fixed capitals of ¥
6,00,000 and ¥ 4,00,000 respectively. Kavi was admitted as a new
partner for 1/5th share in the profit of the firm. Kavi brought ¥ 40,000
as his share of goodwill premium and % 3,00,000 as his capital.

The amount of Goodwill premium credited to Sumit will be :
(a) 20,000 (b) T 24,000
(¢) 16,000 (d) 40,000 1

12. Total assets of a partnership firm, which was dissolved were ¥ 30,00,000
and its total liabilities were ¥ 6,00,000. Assets were realised at 80% and
liabilities were settled at 5% less. If dissolution expenses were I 30,000,
the profit or loss on dissolution was :
(a) Profit % 18,00,000 (b) Loss ¥ 6,00,000
(¢) Profit % 6,00,000 (d) Loss ¥ 18,00,000 1

13. (A) Radhe Ltd. forfeited 500 shares of ¥ 10 each fully called up for
non-payment of final call of ¥ 3 per share. 300 of these shares were
reissued at ¥ 8 per share as fully paid-up. The amount credited to
Capital Reserve Account was :

(a) 1,500 () ¥ 2,100
() 3,200 (d) 1,800 1
OR

(B) A Company forfeited 1000 shares of ¥ 10 each, ¥ 7 called up for
non-payment of first call of ¥ 2 per share. All these shares were
reissued at ¥ 5 per share ¥ 7 paid up. The amount transferred to
Capital Reserve Account was :

(a) 2,000 (b) ¥ 3,000
() 4,000 (d) 5,000 1
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%3, ¢d a1 T U wH & WIgieR 9 99T 5:3:2 % 3T -1 Sied o | 3T
rft deft shEst: % 6,00,000, ¥ 4,00,000 G % 2,00,000 off | ISt % stfafes fra 3
%H 1 T 75,000 T 0T a1 g311 AT | 3 AT Torg § e w1 yrarerm o

i) ISt 9% e T = |

(i) HTEERI % TR W 12% 1k e 8 &4 |

(iii) ®Z T 30,000 ATTHER TUT < I T 40,000 Tt femmet I |

(iv) 39 o o1 9 9% aTfer < H = |

¥ o g Tk fommEl & 31 ° % 3 T 50,000 T TR fohaT; < 3 Y Ay &
IR | 3 50,000 T 301 febanm a f31a 3 yedes 37efad & 31=1 & 3 70,000 BT STEI
fopamm |

31 AT, 2022 ! THTH 5T Y § f3rar & =01 W AT | Y& BH 61 1 T 7,06,750 AT |

14. w9-gii fafeem @ § fohaan s1g oy gearatia fean w2

(a) %7,06,750 (b) ¥ 7,02,250
(¢ % 7,00,000 (d) 7,13,000

15. HTSGRI gRI STTE T AT i T ghft -
(a) %% 2,250;¢d T 4,500 a1 3@ % 2,100
(b) ¥ 9,000; <F T 9,000 7T 34 T 4,200
(¢) ¥%34,500;¢d T 4,500 a1 3@ 3 2,100
(d) ¥ 3T 24,000; T T 12,000 Tt 3 3 16,800

16. (A) TH 7T TEER & Y9 W [{H APeR TRemfai & qdedind Td aamsti &
YA I g aTet e AT B ol fore o 9 fope 31uTa o &

(a) WSR-S (b) I T~y U 7
(¢) TWAY-ToueH U@ E  (d) W I H
Freran
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Read the following hypothetical situation and answer question no. 14 and
15 on its basis :

Rudra, Dev and Shiv were partners in a firm sharing profits in the ratio of
5:3:2. Their fixed capitals were T 6,00,000, ¥ 4,00,000 and % 2,00,000
respectively. Besides his capital Shiv had given a loan of ¥ 75,000 to the
firm. Their partnership deed provided for the following :

(1) Interest on capital @ 9% p.a.

(1) Interest on partner’s drawings @ 12% p.a.

(111) Salary to Rudra ¥ 30,000 per month and to Dev ¥ 40,000 per quarter.

(1v) Interest on Shiv’s loan @ 9% p.a.

During the year Rudra withdrew ¥ 50,000 at the end of each quarter; Dev
withdrew ¥ 50,000 in the beginning of each half year and Shiv withdrew
% 70,000 at the end of each half year.

The profit of the firm for the year ended 31-3-2022 before allowing

interest on Shiv’s loan was % 7,06,750.

14. How much amount of net profit will be transferred to Profit and Loss
Appropriation A/c ?
(a) %7,06,750 (b) T7,02,250
(¢) ¥7,00,000 (d) 7,13,000 1

15. What will the amount of interest on drawings of the partners ?
(a) Rudra? 2,250; Dev % 4,500 and Shiv T 2,100
(b) Rudra 3 9,000; Dev % 9,000 and Shiv % 4,200
(¢) Rudra 4,500; Dev T 4,500 and Shiv < 2,100
(d) Rudra ¥ 24,000; Dev ¥ 12,000 and Shiv ¥ 16,800 1

16. (A) On admission of a new partner, the old partners share the gain or
loss on revaluation of assets and reassessment of liabilities in which

of the following ratio :

(a) Equally (b) In old profit sharing ratio
(¢) Innew profit sharing ratio (d) In sacrificing ratio 1
OR

67/2/3 Page 11 P.T.O.



(B) 3T 3R from weh wH <6 Arsier off qUT 3:1 % AT H AT -7 1 faered
off | ST | 1/49 9T o foTq =8 <h1 Uk W HTeR & &9 H %A | Yo7 feam man 5y
3G AT U 99T B SsR-se 9 ° o | s, fen e = o 1= e

[EEIECCERICRIE
(a) 3:1:4 by 1:1:2
(¢ H5:1:2 d 1:2:1

17. (a) HIgH, TIg a7 T Ueh BH o AR & GAT 2:2:1 % TG H o1 sied o | gL
1 T 70,000 AT Y TR €1 TS oft | G Bl <1 78 TRA 1 g8 Ferelt oft Hft 61 HreA
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Jreran
(b) & TAATE TH HBH H AR I qAT 1 R sied o | b1 I5ft off : & % 1,20,000

AT @ T 80,000 | AT T AMfH G 20% & | ®H 1 st oA aut 1 oy
% 34,000, ¥ 38,000 7T X 30,000 T | IR 71 &I Teh AT HIHGR ST | T h
TS U Y <h TAT(T T YeATeh ST o G TN oh 33 <h STTER 9T foham T |
T % O T HH <hl AT o o I TUMET HIFAT |

18. e, e @ Hifed Ueh BH o HTSIER $ GUT 5:3:2 % AT H A9 - o1 fersrroi shid
g | 139, 2022 F I/ 2:2:1 % I H -7 fofoia 6 & T e o
TEH( %1 | I8 FRHd g3 T
(i) ®H i Tfd T geaTeRd € 1,40,000 T |
(i) Ot o JYeaTeh qeiT SIS o JAMERT W&t ¥ 1,20,000 T |

%4 T Jdehi H IR -1 shi 3T Ustra= St SHifaw | ot -
feroquft =1 o8 w9 @ gwiisT |

19. fow, gem qerm iy Ush B o |IeieR & 9T 2:3:1 % 3TITd H AT 1 fawTsH o 9 |
qeT e B T e S, aREm R % g @ s % gt aweh
Tl 1Tk THTISH i o T9=ITd IHeh Yofl @Td 1 99 % 85,000 T | T aem ammefiy
T 1 36 @Td % 0 9 &g % 1,15,000 3 % foIw wewa gu | gen i Fanfgta =
AT o T@ThH o ToTT STTaeeh UskHm= Tfafe i |
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(B) Asha and Nisha were partners in a firm sharing profits and losses in
the ratio 3:1. Charu was admitted as a new partner for 1/4th share in
the profits of the firm which she acquired equally from Asha and
Nisha. The new profit sharing ratio of Asha, Nisha and Charu will be :
(@ 3:1:4 (b) 1:1:2
(c) 5:1:2 d 1:2:1 1

17. (a) Mohan, Sohan and Suresh were partners in a firm sharing profits in
the ratio of 2:2:1. Suresh was guaranteed a profit of ¥ 70,000. Any
deficiency on account of guarantee to Suresh was to be borne by
Mohan and Sohan in 3:2 ratio. The profit of the firm for the year
ended 31.3.2022 amounted to ¥ 2,00,000.
Prepare Profit and Loss Appropriation Account of the firm for the
year ended 31.3.2022. 3

OR
(b) A and B were partners in a firm sharing profits equally. Their

capitals were : A ¥ 1,20,000 and B ¥ 80,000. The annual rate of
interest is 20%. The profits of the firm for the last three years were
% 34,000; T 38,000 and ¥ 30,000. They admitted C as a new partner.
On C’s admission the goodwill of the firm was valued at 2 years
purchase of the super profits.
Calculate the value of goodwill of the firm on C’s admission. 3

18. Mita, Geeta and Mohit were partners in a firm sharing profits and losses

in the ratio of 5:3:2. With effect from 1st April, 2022, they mutually agreed

to share profits and losses in the ratio of 2:2:1. It was agreed that :

(1) Goodwill of the firm was valued at ¥ 1,40,000.

(i1) Profit on revaluation of assets and re-assessment of liabilities
amounted to ¥ 1,20,000.
Pass necessary journal entries for the above transactions in the
books of the firm. Show your working notes clearly. 3

19. Vibha, Sudha and Ashish were partners in a firm sharing profits in the
ratio 2:3:1. Sudha retired and the balance in her capital account after
making necessary adjustments on account of reserves, revaluation of
assets and re-assessment of liabilities was ¥ 85,000. Vibha and Ashish
agreed to pay Sudha ¥ 1,15,000 in full settlement of her claim. Record the
necessary journal entry for goodwill on Sudha’s retirement. 3

67/2/3 Page 13 P.T.O.



20. (a)

(b)

foent frfireg 3 feaem faafieg @ ¥ 1,98,000 % Teaeia god st aiEm =t 1
%3 fopa | o8 Tfa g3 76 3h o &1 AW % 100 S% & 10% ROT9ET i
Tentfira =hees Topam e |
fgent fetfiree <t qeaent | tTarvereh s Sfafdar Hifse o8 9d gu fo womai
EQREUECE
(i) 10% s W T | (i)  10% Sfiferem o e i |

e
1.4.2021 &1 915 fefieg 3 3 100 I % 10,000, 9% FOHAT b1 6% T3 T
fortfira s o fote staies stmf=ra fepu | wqof Tifin atmeied W@ oft |1 12,000, 9%
FOTTAT o T 3TTeEA WTH U | |+ft STTacet ohl STTHTIIh STTER W 9% FOTHAT h1
3Teie o e o | 3rreed W e srfafs afsn anfoe s e 1 31.3.2022 w1
St 7 et srfufem, 2013 % YEUE % AR e i woag w
raferfaa s w1 faor feman | 38 fafyr 1 et & wfayfa sfiftem d= @ o
% 10,000 T 19 2T |
ST T TETeh] § ITUTH AT o 1T STTawareh Tst-mwen Sfafsat Hifs |

21. % 10 Yk o GHaT 320 4 foreh aeadt fafiee i a1fespa 4sit ° 10,00,000 7 | P
1 3rfere qum ot wed 37 Sl % 4,00,000 ot | 319 7 ol STTaweRanati i 9 i %
o e 9 2 10 I 3 20,000 FHAT 3791 1 T T S e ypR a3 9
% 3 TG W; % 3 3T W, % 2 T I T a1 ¥ 2 G Te 31| I W |
ot &9 ¥ 3fired & T | e UM HT PTEE 1 6E, 2021 I, TUT AT TRT 67
1 37TE, 2021 1 TUT =W AT T 1 TR, 2021 <7 o | T, 57 1000
TSN BT ATEA TR TTIT o, 3 3TTeeA TUT AT=T TR T YTaE & foham; 600 3731 &
Teh AT T8 A HI A3 b1 YT al fo6ar; qem sig 4, & 400 3731 1 31meied
Terar T o, S AT T A @ TR | hEe tfufEm, 2013 S sEE 111,
T T o STTAR o 31 3791 §Sht 1 39k feafer foamon o weqa hifse | 3eft <6 fore @i
% ed i dAR AT |
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20. (a) Sinco Ltd. purchased assets of the book value of ¥ 1,98,000 from
Dixon Ltd. It was agreed that the purchase consideration be paid by
issuing 10% debentures of ¥ 100 each.

Record the necessary journal entries in the books of Sinco Ltd.

assuming that the debentures have been issued : 3
(1) At a discount of 10%. (i) At a premium of 10%.
OR

(b) On 1.4.2021 Y Ltd. invited applications for issuing 10,000, 9%
debentures of ¥ 100 each at a discount of 6%. The entire amount was
payable with application. Application for 12,000, 9% debentures were
received. 9% debentures were allotted on pro-rata basis to all the
applicants. Excess money received with applications was refunded.
On 31.3.2022 the company decided to write off discount on issue of
debentures according to the provisions of the Companies Act, 2013.
On that date the company had ¥ 10,000 in its securities premium
reserve account.

Pass necessary journal entries for the above transactions in the
books of the company. 3

21. Saraswati Ltd. has an authorised capital of ¥ 10,00,000 divided into
equity shares of ¥ 10 each. Subscribed and fully paid up share capital of
the company was ¥ 4,00,000. To meet its new financial requirements, the
company issued 20,000 equity shares of ¥ 10 each which were payable as
follows : ¥ 3 on application; ¥ 3 on allotment, ¥ 2 on first call and T 2 on
second and final call. The issue was fully subscribed. The allotment
money was payable on 15t May 2021, first call money on 1st August 2021
and final call on 1st October 2021. X whom 1000 shares were allotted, did
not pay the allotment and call money; Y an allotee of 600 shares, did not
pay the two calls ; and Z whom 400 shares were allotted, did not pay the
final call. Present the share capital in the Balance Sheet of the company
as per Schedule III, Part I of the Companies Act, 2013. Also prepare Notes
to Accounts for the same. 4
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22. W, T AT IR Teh BY o ARGR < TUT 2:1:2 o AT H A-BIM sied o | 31.3.2022

1 31 Teufa foramo o yerm & o
31.3.2022 i W, o Ao 3R ot feafa feremon
Sgand ) Rt Tt )

TER 48,000 | S 25,000
o fae 22,000 | ¢TeR 75,000
T g9 80,000 | =ik 2,00,000
2021-22 T A™ 2,00,000 | wefid 3,00,000
ISt ol qUT A 10,00,000

9t 5,00,000

] 2,50,000

R 5,00,000 12,50,000

16,00,000 16,00,000

30 5, 2022 W1 “F h1 g & T3 | AICH! Hor@ H e o1 foh foret dmgier 1 9y

R 35 saTess T % geher B

(i) 39 ISl @1 H1 I |

(i) ISt T 6% e g W A |

(iii) ﬁwwﬁ%mﬁﬁwm,mﬁwﬁ@éaﬁ%m%mwm
Eq| |

(v) Tifa o 3t 9T, FSEeh! oMt fise =) o & 3fEd o & | 981 b I %
JATYR W hT A |
a9 2018-19 &1 &H 2 3,00,000; 2019-20 =T ¥ 4,00,000 a4t 2020-21 <h1
< 1,00,000 2 |
1.6.2022 1 ‘T 1 379 Ufgehl ST o1 WPTAH L o foTT T 50,000 T AT fohaT |
3IGh! Yog T 3Tk FsaTeent S TEgd S o foTe FY 61 Oeft @rar aar Hif |

23. fafirs afmefaat (ke & i) vd smer qaanstt 1 aef @ # @H-aRd s &
e, 99 Td HEh i GEER B % fHHed ¥ gHEfRd MERgd oF-¢al % T
SATIIT VST Tfarfoat hif
(i) 60,000 % ATERT 7 314 TE & Yo e | T 59,000 Yo T Wik THR H
foram |

(i) T ST A 6 3 12,000 o T S YA hl HEAd < |

(ii1) fereres < faftr =1 & & emv-—g @1 # € 18,000 HTAH AT AT |

(iv) ¥ 20,000 s Teh rfeifga a1 1 WA Th HIHER, TEh gRT 10% B W fepa
T |

(v) T H T 4,000 o KT T A <eh G fehan 717 |

(vi) TEea =3 11,000 9, TehT Ta™ wges gr T T |

67/2/3 Page 16



22. P, Q and R were partners in a firm sharing profits and losses in the ratio
of 2:1:2. Their balance sheet on 31st March, 2022 was as follow :

Balance Sheet of P, Q and R as on 31.3.2022

Liabilities Amount (%) Assets Amount )
Creditors 48 000 | Bank 25,000
Bills payable 22,000 | Debtors 75,000
General Reserve 80,000 | Stock 2,00,000
Profit for 2021-22 2,00,000 | Machinery 3,00,000
Capitals : Land and Building 10,00,000

P 5,00,000
Q 2,50,000
R  5.,00.000 12,50,000
16,00,000 16,00,000

On 30th June, 2022, Q died. The partnership deed provided that on the
death of a partner his executors will be entitled for the following :

()
(i)
(iii)

@iv)

Balance in his Capital account.

Interest on capital @ 6% p.a.

His share in the profits of the firm till the date of his death
calculated on the basis of last year’s profit.

His share in the goodwill of the firm calculated on the basis of the
three years purchase of the average profits of last four years.

Profits for 2018-19 were ¥ 3,00,000, for 2019-20 were I 4,00,000 and
for 2020-21 were T 1,00,000.

On 1.6.2022 Q withdrew T 50,000 for meeting his medical expenses.
Prepare Q’s Capital Account on his death to be presented to his
executors.

23. Pass the necessary journal entries for the following transactions on the
dissolution of the partnership firm of Tanay and Mehak after various
assets (other than cash) and external liabilities have been transferred to
Realisation Account :

(1) Creditors of ¥ 60,000 accepted stock valued at ¥ 59,000 in full
settlement of their claim.

(11) Tanay agreed to pay off his wife’s loan of ¥ 12,000.

(111) The firm had a debit balance of ¥ 18,000 in the profit and loss
account on the date of dissolution.

(1v) An unrecorded liability of ¥ 20,000 was paid by partner, Mehak, at a
discount of 10%.

(v) Tanay’s loan of ¥ 4,000 was paid through a cheque.

(vi) Expenses on dissolution amounted to ¥ 11,000, which were paid by
Mehak.
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24. T aftfeafa & srome o frtaa o o smavaes Usam=n sfafsat Fifse

@

(1)

(i11)

25. (a)

(b)
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3 100 I % 5,000, 9% O] b1 10 10% &g W fopam wam, feept smem
e oS o qveTd 5% S WHEr g |

% 100 ¥&% & 30,000, 12% UT9=AT o1 ffe 5% it w e w, faehr
NIPERICENR SR LT ki

% 100 Y % 8,750, 12% 9= w1 frfe Toed W foam o, st shem
aie ot g FHed W R |

T fafide 3 ¥ 10 y&% % 10,000 FHAT 3790 % A 6 fow s1meed smfea
foru | wfe 3731 U =T YTaM f1 bR @ €T 97 : SATEET W T 2; 3 W 3;
TYH AT W R 3 T g8 T T TR 2 |

15,000 3791 % T 371EeT U9 §T | 3,000 370 & foTw 3TaeH @ & &
feam e atree UM Amfte & TS | 12,000 I % f sTEEER! H
TR MY WX 3T foham T | 31Teied o wme 3tfefes qfst b1 wmms
TS W T T foham T | Uk 3718 b1 Bigeht, T8 200 3730 7 ATeeA
foram T o, |t STSIUTERT A STTEe TR 1 YA L e | $9 3791 1 FWr B
T T | 39k REITd W ATEAT " TS AT S B3 | G TE SAfaH A=
areft aeh At & S off | Sk wHeA % forw i ferfires ot geael § eI
Tt Sfafsat HIT | &t oft srmevaes 2 3ted JTe-T @idn @i |

Jreran

Tepg faaftree 4 ¥ 10 T & 50,000 F9aT 3791 i 10% Sftrm w frifd @ &
fau srmered swfara fpe | wfa arer wfSn 1 Jrae f Yo & <F o7 ¢ 3TEe W
T 3, A W T 3 (Nfem gfea) aur v ufyr gom wg srfm I W
1,20,000 373t = fTu 37/ee IT8 g€ e @t Traeehl shi TTUTfdeh 3MYR WX 37
T 3TeTe L T 73T | STTAE TR TH AT T 1 TURISH haet e W
Tfsr & foran wa | ST g iy @ srfafcd s ufr aftm s G e |
JrwreTes fe 6,000 3791 o fofu e feram o, Jrem Tfdt 1 yrae &
T qUT 36k 3T <hT &1 S o 77T |
Hepe fetfieg o1 T&iehi H ITIH THCHT o foTu STTarwareh UsiHTH= Sfafst Hifu |
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24. Pass necessary journal entries for the issue of debentures in the following

cases :

(1) Issued 5,000, 9% debentures of ¥ 100 each at a discount of 10%
redeemable at a premium of 5% after 5 years.

(11) Issued 30,000, 12% debentures of ¥ 100 each at a premium of 5% and
redeemable at par after 5 years.

(i) Issued 8,750, 12% debentures of ¥ 100 each at par, redeemable at par
after 5 years. 6

25. (a) Ganga Ltd. invited applications for issuing 10,000 equity shares of ¥ 10
each. The amount per share was payable as follows : ¥ 2 on application,
% 3 on allotment, ¥ 3 on first call and ¥ 2 on second and final call.
Applications were received for 15,000 shares. The applications for
3,000 shares were rejected and application money refunded. The
shares were allotted on pro-rata basis to the applicants of 12,000
shares. Excess money received with applications was adjusted
towards sums due on allotment. All shareholders paid the allotment
money except one shareholder who was allotted 200 shares. These
shares were forfeited. The first call was made thereafter and duly
received. The second and final call was not yet made.

Pass Journal entries for the above transactions in the books of
Ganga Ltd. Open Calls-in-Arrears Account wherever required. 6
OR

(b) Mukund Ltd. invited applications for issuing 50,000 equity shares of
T 10 each at 10% premium. The amount per share was payable as
follows : ¥ 3 on application, ¥ 3 (including premium) on allotment and
balance amount on first and final call. Applications were received for
1,20,000 shares and shares were allotted on pro-rata basis to all the
applicants. The excess money received on application was adjusted
towards sums due on allotment only. Application money in excess to
sums due on allotment was refunded. A shareholder who had applied
for 6,000 shares, could not pay the call money and his shares were
forfeited.
Pass necessary Journal entries for the above transactions in the
books of Mukund Ltd. 6
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26. (a) Wud AT RYR U ®H % GEER & q9T 3:1 & TII H M-I dfed o |
31 A, 2022 w1 371 fufe forawor fra g @ o -
31 T, 2022 ! "rera qon R w6 ferfa feerm

Fand afon ufteeafat afor
, ® ®
it : H1ee 3,00,000 ERICE] 4,70,000
e 2.00,000 | 5,00,000 | frast 1,10,000
HTR &fegfd o 60,000 | TTeR 1,20,000
TTER 1,90,000 | &2 ; Gferer ol
feuera= 10,000 | 1,10,000
=l wioss ffy 1,10,000 | =i 1,40,000
Uhe 30,000
8,60,000 8,60,000

1 319, 2022 1 I8 HH & A § 1/49 9FT & 7w SHifd 1 grgiert 4 gaw
feam | snfa sroet OSft & &9 W % 1,86,000 @1 qer @t Sftrm 6 3o vm
T 7 40,000 e @ | o w1t W TEAl 8
() e I qcd T 23,000 HA ST =1 AT |
(i) Freml 3 20% e g&ae geg w e foa |
(iii) TR &fegfd 71 @ T 70,000 U7 FTEHT PTAH §1g § T3 SRR |
(iv) e T 27,000 <h1 Wi Tfyr wferfera oft fSaept gran 7=t foram srmm |
Afel o TN TR YAHETeR WA qei |ISigR o Yol Wid qar HIfT |
Fr%rT
(b) Tferent, fefermm qem Tt wh wH i Argier off 9uT 3:5:2 % AT # AW-FIH
wiedt off | 31 7, 2022 1 391 fRufa foeror e yepr & ot
31 ur=t, 2022 = Tferent, Ritrn qen wuisht w6 ferfa fero

Tgamd afan PIRestee (6D || afn

® ®
IEIELRSE ALY 60,000 | Uehg 50,000
T Ty 40,000 | ¥ih 80,000
St e 40,000
TRt 3,00,000 from 30,000
fefermm 2,00,000 0o 5,00,000

LRIl 1,00.000 | 6,00,000

7,00,000 7,00,000
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26.

(a) Madhav and Girdhari were partners in a firm sharing profits and

losses in the ratio of 3:1. Their balance sheet as at 31st March, 2022

was as follows :

Balance sheet of Madhav and Girdhari as on 31st March, 2022

Liabilities Amount Assets Amount
®) ®)

Capital : Madhav 3,00,000 Machinery 4,70,000

Girdhari 2,00,000 | 5,00,000 | Investment 1,10,000
Workmen’s compensation Debtors 1,20,000

fund 60,000 | Less : Provision

for doubtful debts 10,000 | 1,10,000

Creditors 1,90,000 | Stock 1,40,000

Employee’s Provident fund | 1,10,000 | Cash 30,000

8,60,000 8,60,000

On 1st April, 2022, they admitted Jyoti into partnership for 1/4th
share in the profits of the firm. Jyoti brought ¥ 1,86,000 as her
capital and ¥ 40,000 as her share of goodwill premium in cash. The
following terms were agreed upon :

(1) Stock was found undervalued by % 23,000.
(11) 20% of the investments were taken over by Girdhari at book value.

(iii)

% 70,000, which was to be paid later.

@iv)

claimed.

Claim on account of workmen’s compensation amounted to

Creditors included a sum of ¥ 27,000 which was not likely to be

Prepare Revaluation A/c and Partners’ Capital Accounts on
Jyoti’s admission.

OR

(b) Radhika, Ridhima and Rupanshi were partners in a firm sharing
profits and losses in the ratio of 3:5:2. On 31st March, 2022, their
balance sheet was as follows :
Balance Sheet of Radhika, Ridhima and Rupanshi as on 31.3.2022

Liabilities Amount Assets Amount
(K9] Q)

Sundry Creditors 60,000 | Cash 50,000

General Reserve 40,000 | Stock 80,000

Capitals : Debtors 40,000

Radhika  3,00,000 Investments 30,000

Ridhima  2,00,000 Buildings 5,00,000
Rupanshi 1,00,000 | 6,00,000

7,00,000 7,00,000

67/2/3

Page 21

P.T.O.



27.

28.

29.

)

B)

A4)

B)

(@)
©)
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IR fafer s feferm Sanfaa 2 T8 qen a8 wgHid 33 1o

(i) Y Efd w1 geRd 3 3,00,000 TRt ST |

(i) WS T YA T 6,20,000 foham 7 |

(iii) 7€ w6 IS T 5,00,000 Tyt 6 W, I AEREER & TU Ay faumE
AT § BT, 39 3e99 < fIU STTawreh IuEISE AIRieRi < 9T @Td @i
& fepu AT |

Teferr 61 Tanfagfa W gfeTeR @TaT qeiT FTEER % ISt Wid dIR iR |

W - @
a1
(Forfia Teraomt =t fereeieon)
RN Td 3ATH T ITH 3,000 T ¢ ST <1 TROTH §
(a) TR TSR ¥ Uhs 1 ATE |
(b) T nfafafRe @ e w1 st=<ate |
(c) Toctia nifafaferi @ Uepe o1 3r=ais |
(d) Tk 9 Tehg qodl H IS Ted & |
3720
e forita 3em it e o, fSEeh1 &7 s9ed™ 3UR ¢1 Ud SUR oF1 §, ‘&I %
YT T TS 1 TTH <1 Sfiehd Tohal ST @ :
(a) TEEETARREISEIA | (b) FRwaRris s |
() Tmfafaftmissad| (d) VPSS EIT |

fr=fafaa 9 9 == a1 ot faewon o fasemm w1 ws areA g 2

(a) -2 feawom (b)  IAIUTA TerversoT
(c) Teufq faemor (d) @i AReH
AU

_ SATAl <hl TV CelehTel W SSET <hi ST ST &THdT o1 1T o e
T o fAw AT et 2 |

(a) <TSEdT (b)  IMEFETAT

(c) AT (d) 3e

= 1 9 B @ -2 1 IR Uehg o1 T8 TR | ¢

S BT 7,000 Ths i et | (b) T 20,00,000 o 3730 <61 e |
% 60,000  TareTi o1 567 | (d) % 11,000 1 ASGH T WAH |
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Ridhima retired on the above date and it was agreed that :

(1) Goodwill of the firm be valued at ¥ 3,00,000.

(1) Building was valued at ¥ 6,20,000.

(111) Capital of the new firm was fixed at T 5,00,000, which will be in
the new profit sharing ratio of the partners ; the necessary
adjustments for this purpose were to be made by opening
current accounts of the partners.

Prepare Revaluation Account and Partners’ Capital Accounts on

Ridhima’s retirement. 6

PART-B
Option - 1
(Analysis of Financial Statements)

27. (A) Interest of ¥ 3,000 received in cash on loans and advances will result in :
(a) cash inflow from operating activities.
(b) cash inflow from investing activities.
(¢) cash inflow from financing activities.
(d) No change in cash or cash equivalents. 1
OR
(B) In case of a financial enterprise whose main business is lending and
borrowing, ‘interest paid’ and ‘interest received’ are classified as :
(a) Operating activities (b) Investing activities
(¢) Financing activities (d) Cash equivalents 1

28. (A) Which of the following is a tool of Analysis of Financial Statements ?
(a) Statement of Profit & Loss(b) Ratio Analysis

(c) Balance Sheet (d) Notes to Accounts 1
OR
B) ratios are calculated to determine the ability of the business to
service its debt in the long run.
(a) Profitability (b) Solvency
(¢) Liquidity (d) Turnover 1

29. Which of the following transactions will not result in flow of cash :
(a) Cash withdrawn from the bank % 7,000
(b) Issue of shares ¥ 20,00,000
(¢) Purchase of investments I 60,000
(d) Payment of wages T 11,000 1
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30. T 31Tl & SR W “Tieh (3adl) 3TTaRt ST BT
4

=T & TR 12,00,000

37Ed Wi (3ad) 2,00,000

Hehel T 3T 20%

(a) 67T (b) 57

(¢ T7.27A (d) 3T 1

31. ot arfferm, 2013 1 e IO, 9 1 % SgEr fre wei o fopa g sfident qer
IY-3feh] o 3T=Td & fehaT STa
() A0y I
(i) IR HFRR
(iii) TS @I BT AY 3

32. UG IE Tehileh & FTeH IO Haeri <61 SR hid BT STTehg] b1 YASTIhT fohaT STTaT & I’
deheIeh ohl UG shIfSTT qT UG sh T8 deh-ieh shl feheal &l HH13T o1 Jooig hIfT | 3

33. (@) () TEgETa &t faiee =T 8 3w 6 e ST

1o TRET ot % 8,00,000
A AT 1.5:1
HTe] 3TaTd 2:1

Wi (3idl) HATaxt AU 6 T

TTSA h1 ATTA T 25% 1 I <=1 71407 |

(i) TSk HEIHT ST =T U 60% & | Seoi@ it o6 T 20,000 T < HTe
o h’ W T STATA ST, T 319a S8 IS UNaa i arm | 3+ 1=4

A%
(b) wm fafis %1 Fur-a9ar 31U 2:1 & | RO Afgd Seoi@ it o e o=-<a1

Y FOT-FHAT ITAT ST, T 31T $HH hIg TN Tai FT :

(i) 3 i 3 T e S | T 1,00,000 T F0T forn et A 5 9wt &
YA HETR |

() % 1,50,000 st G T 1€ 363 Temart T |

(i) ¥ 1,00,000 % 9% OIS b1 e fohar T |

@(iv) ¥ 5,00,000 T Tt o 56 & foTu smmgfederdta st awan 3t fifia fog
T | 4
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30. The ‘Inventory Turnover Ratio’ from the following information will be :

4
Revenue from operations 12,00,000
Average Inventory 2,00,000
Gross loss ratio 20%
(a) 6 times (b) 5 times
(¢) 7.2 times (d) 3 times 1

31. Under which major heads and sub-heads will the following items be
presented in the Balance Sheet of the company as per Schedule III, Part I
of the Companies Act, 2013 ?
(1) Income received in advance
(i1) Computer Software
(ii1) Balance of forfeited shares account 3

32. ‘It is a technique which involves regrouping of data by application of
arithmetical relationships.” Identify the technique and state any two
limitations of the technique identified. 3

33. (a) (@) Calculate Revenue from operations of ‘BN Ltd. from the
following information :

Current Assets $.8,00,000
Quick ratio 1.5:1
Current ratio 2:1
Inventory turnover ratio 6 times

Goods were sold at a profit of 25% on cost.

(i1) The operating ratio of a company is 60%. State whether
‘purchase of goods costing ¥ 20,000° will increase, decrease or
not change the operating ratio. 3+1=14

OR
(b) The debt equity ratio of M Ltd. is 2:1. State with reasons whether the
following transactions will increase, decrease or not change the debt
equity ratio :

(1) Obtained a loan from ICICI Bank ¥ 1,00,000 payable after 5 yrs.

(i1) Purchased machinery for cash ¥ 1,50,000.

(111) Redeemed 9% debentures ¥ 1,00,000.

(iv) Issued equity shares for purchase of machinery of ¥ 5,00,000 to
the vendors. 4
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34. T wreufies faawor 1 ufew Tur g9es smar W g T y9q 1 3w e |
Fere sfean whiw o 3T=wia g1 A T @ I hl ST h1 | a8 Hl Jhg 7
AT 3T F- T 3T 39 g1 bl ITH A o T 10 311 9o fomm et vt <6
g gorar fafiee’ sAm w1 fola e 1 31.3.2022 1 et Y focfl feurfa sas
Terfer feraor & gorig At B

gt feates &1 31.3.2022 i fedafa feraron
o qe | 31.3.2022 | 31.3.2021
4. ® ®)
1. Swat qe agand
1. vewes Attt
(%) THdT 37 Uit 20,00,000| 17,00,000
(@) T=F U e 3,00,000|  4,00,000
(T T Tererton)
2. = ™Al
AefeTefia 3UR 3,00,000|  2,00,000
3. ] S
ST < 50,000 25,000
T 26,50,000| 23,25,000
I1. uferafat
1. ITue aREwEt
() T Uit
(i) g uiEr o=t 8,00,000(  9,00,000
(i1) 37t uferrafaat 5,00,000|  2,00,000
@) 3= frem 3,00,000|  4,00,000
2. e uREwEt
() TSI (HTeTEET) 4,00,000  5,00,000
(@) AT T 1,50,000| 1,25,000
(M) ThS TG e Tod 5,00,000|  2,00,000
T 26,50,000| 23,25,000
SAfafes ST :

Y 9 H T IREEfaEi W 1,00,000 YeIETE SRR TR |
ITRE FET o IR T GATaT feaftres’ 1 Uehg Targ faawor’ dam Hifs |
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basis of the same.

34. Read the following hypothetical text and answer the given question on the

Sujata started a small enterprise under the ‘Skill India Scheme’. As the
business grew, the revenue started increasing and she decided to form
‘Sujata Ltd. to achieve her objectives with 10 other like minded persons.
The financial position of the company is given in its Balance Sheet as at

31.3.2022 :
Balance Sheet of Sujata Ltd. as at 31st March, 2022
Particulars Note| 31.3.2022 | 31.3.2021
No. ® ®
1. Equity and Liabilities
1. Shareholders’ Funds
(a) Equity share capital 20,00,000| 17,00,000
(b) Reserves and Surplus 3,00,000 4,00,000
(Statement of Profit and Loss)
2. Non-current Liabilities
Long term Borrowings 3,00,000 2,00,000
3. Current Liabilities
Trade payables 50,000 25,000
Total 26,50,000| 23,25,000
II. Assets
1. Non-current Assets
(a) Fixed Assets
(1) Tangible Assets 8,00,000 9,00,000
(1) Intangible Assets 5,00,000 2,00,000
(b) Non-current Investments 3,00,000 4,00,000
2. Current Assets
(a) Inventories 4,00,000 5,00,000
(b) Trade Receivables 1,50,000 1,25,000
(¢) Cash & Cash equivalents 5,00,000 2,00,000
Total 26,50,000| 23,25,000
Additional Information :
Depreciation of ¥ 1,00,000 was charged on Tangible Assets during the
year.
On the basis of the above information prepare the ‘Cash Flow Statement’
of Sujata Ltd.
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27.
(@)
(©
28. (A)
B)
29. (A)

B)

PART -B
Option - 11

(Computerised Accounting)

works as a platform to work with ‘Tally.

Company information (b) Active company
Gateway of Tally (d) Master

Which of the following components of computerised accounting

system are known as raw facts for any business organisation ?

(a) Procedure (b) Data
(¢) Hardware (d) Software
OR

Which of the following software packages is suitable for an
organization where the volume of accounting transactions is small

and adaptability is very high ?

(a) Specific (b) Tailored
(¢) Generic (d) (b) and (c) both
A is identified by combination of letter and number

corresponding to particular location within the spreadsheet.

(a) Row (b) Cell
(¢) Column (d) Range
OR

Entries required to make trading account and profit and loss account
are known as :

(a) Opening entries. (b) Adjusting entries.

(¢) Closing entries. (d) (a) and (b) both.

30. The ranges are identified within Excel by :

()
©

67/2/3

Using Hashtag (b) Using Vector
Using Comma (d) Using Colour
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32.

33.

34.

Explain any three advantages of using charts.

Explain two main groups in which ‘Group of Accounts’ is classified in
Accounting Software ‘Tally’.

(a) What is a ‘Pivot table’ ? State any three of its advantages.
OR
(b) List eight uses of Accounting Software.

Name the function which is often used to calculate the payment for
mortgage loans that have fixed rate of interest. Also explain its syntax.
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